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Q 1. FafefEd & 19 & foran TRomes 52

(A) STRTT
(C) gart

Q 2. b g yafuar 82
(A) g &1
(C) TR &I

Q3. 'ufeHE H o 91 gAY 87
(A g5

©) fa

Q4. e wM & fore Sudad wreg 1 gRM?

HA &7 IR IET R
(A) 51
(C) ®IRd

Q 5. '&r fd HRe B faufRT g2

(A) Ty Bt
(C) Tve™ &1

Q 6. Ffifad & d H a1 eg gfef 87

(A) S99
(C) §rdc

Q7. Fufafad d A oH a1 Usg Wi 8?

(A) S
Qa1

Q8. 'dmavgadi e e o
(A) Fra
(@KE

Q9. FufafEd d A HH I Usg dgH 78T 82

(A) Qg
© RR

Q 10. Fafifad 3 3 H 91 9/ s 87

(A) TH 399 TR &1
(C) TH I9H! AR &

foraT o 3—

(B) IRam
(D) T

(B) Tdd BT
(D) SHTEHTRI BT

(B) agey
(D) 3o} Yrg IHYg

(B) 3
(D) BT

(B) 3HfeHRur P
(D) 3ATGH Bt

(B) STd=id
(D) 9

(B) faarg
(D) gpTed

(B) Tercht
D)®

(B) fem
(D) Thaa

(B) T SU AR 71
(D) T ST AR &1



Q 11 : Select the most appropriate synonym of the given words.  “Inaptitude”
(A) incompetence
(B) courage (C) gossip
(D) radical thinking

Q 12: Select the most appropriate antonym of the given word.  "Clandestine”
(A) Open (B) Hidden
(C) Public (D) Visible

Q 13 : Select the most appropriate one-word substitution for the given words.  “A government by the nobles”
(A) Monarchy (B) Democracy
(C) Oligarchy (D) Aristocracy

Q 14 : Select the most appropriate option to fill in the blank.

______you mind lending me your book for a day?
(A) Would (B) Need
() May (D) Could

Q 15: Select the most appropriate synonym of the given word. “EFFICIENCY”
(A) Disability (B) Fluency
(C) Tendency (D) Capability

Q 16: Select the correct indirect form of the given sentence.

She said to me, "Have you ever flown a kite?”
(A) She asked me if you have ever flown a kite. (B) She asked me that had | ever flown a kite.
(C) She asked me if | had ever flown a kite. (D) She asked me if | ever flew a kite.

Q 17 : Select the most appropriate one-word substitution for the given words.
A partner in crime
(A) Alibi (B) Amateur
(C) Agent (D) Accomplice

Q 18: Select the misspelt word.
(A) foreigner (B) conjure
(€) summon (D) intrigue

Q 19: Select the correct active form of the given sentence.

Was your bag left in the bus?
(A) Did you left your bag in the bus? (B) Did you leave your bag in the bus?
(C) Have you left your bag in the bus? (D) Was you leaving your bag in the bus?

Q 20: Select the correct active form of the given sentence.

All his faults were forgiven by her.
(A) She forgave all his faults. (B) She has forgiven all his faults.
(C) She will forgive all his faults (D) She is forgiving all his faults.



Q 21. 30T VW L= B a1 3T ER & forg YR gow

&Y BT A B HIM?

(A) BT Rig (B) BIiG® Rig
(OEELIGRNH (D) FfteR uret g

Q 22. 2023-24 e &1 TSt il fbd & A Sidl?
() faey (B) 41g

(C) IRTY (D) ORI

Q 23. 2022 ¥ fora g ® qa Hf¥w TSH gHeTd gof B
IEY

(A) FTR UeH
(C)aﬁa:"@

(B) HeRTE
(D) ToiTd

Q 24. T8 fay Hu 3faer & YRd & 3R ¥ walfde ke oA
CIRRICEISEIE R
(A)STaTd §HERT
(C) Higwg =t

(BYIHEA e
(D)fRTe Bga

Q 25. W 3T St o 1et Pl et 32

(A) T (B) sTeTgA
(C)TFetaT (D)THAT

Q 26. Ay & 99 SA g dH R g2
(A) TG 3T feradf
(0) = 31 ZHA

(B) A IHRA &
(D) T8 ¢ g

Q 27. A A AR 320 YA BT UTUfHE BT o UT?
(A) TOTaRUT TR&J0T

(B) TBR HAHT

(C) <1 & foTe SfcTe™ & aTal &1 YGioita ol

(D) Tl B! ggral &1

Q 28. T HNME JR& T (CISF) F 7@ & U § iy

e fpar man 72
(A) 3T gaTd Rig OREEESHIE
() =i Rig (D) fad® Hfaraa

Q 29. YR TURTSY & UYH FUFA HIF A7
(A) ST, I TG (B) ¥\ W19 srmgaR
(C) TTaT HTS TRISH (D) HeTAT T

Q 30. I 2 3R 5 A J ST ST U1

(A) T (B) ®heT[w
(C) faspriaem (D) 37O e

Q 21. Who will lead the Indian men's team for the Australia
tour starting in April?
(A) Harmanpreet Singh
(C) Manpreet Singh

(B) Hardik Singh
(D) Rupinder Pal Singh

Q 22. Which team won the Ranji Trophy of 2023-24 season?
(A) Vidarbha (B) Mumbai
(C) Saurashtra (D) Gujarat

Q 23. Which state recorded the highest number of road
accidents in 2022?
(A) Uttar Pradesh
(C) Tamil Nadu

(B) Maharashtra
(D) Gujarat

Q 24. Who became the bowler who took the most wickets for
India in the history of ODI World Cup?

(A)Jasprit Bumrah (B)Shubman Gill
(CO)Mohammed Shami (D)Virat Kohli

Q 25. Which river does the Statue of Unity overlook?
(A) Ganga (B) Brahmaputra
(C) Narmada (D) Yamuna

Q 26. Which is the tallest statue in the world?
(A) Statue of Liberty (B) Motherland calls
(C) Statue of Unity (D) Spring Temple Buddha

Q 27. What was the primary focus of Meri Mati Mera Desh
campaign?

(A) Environmental protection

(B) Celebrating festivals

(C) Paying tribute to those who sacrificed their lives for the country
(D) To promote sports

Q 28. Who has been appointed as the chief of Central
Industrial Security Force (CISF)?

(A) Anish Dayal Singh (B) Rahul Rasgotra

(C) Neena Singh (D) Vivek Srivastava

Q 29. Who was the first President of the Republic of India?

(B) Bhim Rao Ambedkar
(D) Mahatma Gandhi

(A) Dr. Rajendra Prasad
(C) Dadabhai Naoroji

Q 30. By what other name was Chandragupta 2 known?
(A) Samudragupta (B) Skanda Gupta
(C) Vikramaditya (D) Rana Gupta



Q 31. ER P THD BT FT BRI 87
(A) USBT PT T8 TR

(B) UHT &1 3ficaRes TRId<H

(C) Sgfera sifaie WRracH
(DEERECIEENCRE|

Q 32. 59 § ¥R S U I U0 gl &7
(A) TG YT (B) T gUUr
(C) 3radad gyur (D) BRI

Q 33. ‘oo H-dIee [Ha®T TH® 57
(A) STl BT (B) TIfy b1
(C) I BT (D) Zd &I

Q 34. g gfie fbg & | Twifid 87
(A) TEHT &7 Y (B) SHHM
(@ORIGE:] (D) ST Y

Q 35. USRI Iy fhdehT AS Bidl 872
(A) gt (B) TIfdl &1
(C) Sol & (D) &a &1

Q 36. o< uard &1 U HH B W IY W T THIG TSl 87
(A) O 81 ST § (B) Fuif & H g Wit &
(C) H9 B ST & (D) &t 51g It &

Q 37. 3N wifa gdum g 3= & g2
(A) 3T (B) TH1d

(ORa) (D) YRd

Q 38. YR & Riwmg &1 gad Agayul TreH Fa1 8?
(A) TeX (B) et
(C) auf (D) dTeTs

Q 39. TH T &I % 19800 & 594 J 10% WATH BT §. THDT
Hy-faepy feae ?
(A)17820%
(C) 18000 %

(B) 21780%
(D) 5680 %

Q 40. ffFd 3 T HR T 250000 H TR 94T F 348000 &
o9 €. I BR W foba wic=red oy gaim ?

(A) 40% (B) 39.2%

(C) 38.4% (D) 38%

Q 31. What is the reason for the shine of diamond?
(A) External reflection of light

(B) Internal reflection of light

(C) Multiple internal reflection

(D) Multiple external reflection

Q 32. Is there a mirror installed near the driver in the bus?
(A) Convex mirror (B) Normal mirror
(©) Concave mirror (D) Camera

Q 33. 'Electron-volt’ is the unit of what?
(A) Energy (B) Motion
(C) Heat (D) Fluid

Q 34. Tesla units are related to which sector?
(A) Magnetic field (B) Mass
(C) Speed (D) Heat

Q 35. What is the unit of light year?
(A) Distance (B) Speed
(C) Energy (D) Fluid

Q 36. What is the effect of reducing the density of a liquid?
(A) becomes faster (B) energy is converted
(C) decreases (D) distance increases

Q 37. In which country did the Industrial Revolution
take place for the first time?
(A) England (B) France (C) Russia (D) India

Q 38. What is the most important means of irrigation in
India?
(A) Canals (B) River (©) Rain (D) Pond

Q 39. There is a profit of 10% by selling a sofa for Rs
19800. How much is its purchase and sale?

(A) Rs 17820 (B) Rs 21780

(C) Rs 18000 (D) Rs 5680

Q 40. Minal bought a car for Rs 250000 and sold it for Rs
348000. What percent profit did he make on the car?

(A) 40% (B) 39.2%

(C) 38.4% (D) 38%



Q 41. Gl G DI T 100 ¥ d9- ¥ TP Afad DI 20 ATY

gIa1 8. 39T AT Ufasrd fba g ?
(A) 20% (B) 25%
(C) 22.5% (D) 24%

Q 42. HYR : ifd = GG ST ?
(A) oz (B) Sid
(C) ATHTHYTT (D) I=

Q 43. T K B SR TIRT Hd gU Afed = 4871 4 Pl
"3 AT greR a1 3 swHard Tt 8 o 81 &1 39 Afda A
T g g2

(A) G (B) |

(OReFil (D) Uit

Q 44. T 3 fem T €, R 4 te ue qw 81 Ry Ty
faepedt & § a8 TE! febe gAY, S SFIshH B IR Y|

?,3U APUfd, UL, SU GUHAT
(A) qEFHT (B) AR
(C) T&m w=t (D) Tyufa

Q 45. FofaRad fawedl & 9 el fawed g1
CDFG : JKMN :: XYAB :

(A) CDFG (B) EFHI

(C) EFGH (D) CDEG

Q 46. Ffeifad uy , faw g faswedl & 4 favw dw@ar &1 gHu
(A) 51 (B) 45 (©) 39 (D) 85

Q47. A BHIHERIC, ABIHIZIB, DB TS 3RF A
FHIGA I F 1D I 1 Haef g2

(A) Trar (B) HeitsT

@ELE! (D) WRUTdT

Q 48. Fofafed uy & s1&Ri 1 DA AT T JTelt RIFT TR
FHUTIUR 3@ U & TS 31&R §aal Bl GRT B2
ce_cd fdf

(A) dfcec (B) dfece

(Q) cfede (D) cdfed

Q 49. iUt gufaTar & a1 ¥ 189 3eR & &1¢ 74T 3HeR 1 gI?
(A) K (B) Y © L (D) M

Q 50. fuft DHL, PTX, BFJ, ? H 3FTel UE J1d BIford |
(A) CGK (B) KOS
(©) NRV (D) RVZ

Q 41. By selling an item for Rs 100, a person gets a profit of
Rs 20. What is his profit percentage?

(A) 20% (B) 25%

(C) 22.5% (D) 24%

Q 42. Pigeon : Peace :: White Flag : ?
(A) Friendship (B) Victory
(C) Surrender (D) War

Q 43. Pointing towards a person, Rohit said to Neha, “His
mother is the only daughter of your father” Then how is
Neha related to that person?

(A) Son (B) Mother

(C) Daughter (D) Wife

Q 44. A sequence is given, with one term missing. Choose the
correct option from the given options that will complete the
sequence. ?,Vice President, Prime Minister, Deputy Prime
Minister

(A) Chief Minister
(C) Defense Minister

(B) Governor
(D) President

Q 45. Choose the correct option from the following options.
CDFG : JKMN :: XYAB :

(A) CDFG (B) EFHI

(C) EFGH (D) CDEG

Q 46. In the following question, select the odd number from
the given alternatives.
(A) 51 (B) 45 (©) 39 (D) 85

Q 47. Ais brother of B. C is mother of A. B is granddaughter
of D and F is son of A. How is F related to D?

(A) Grandson (B) Nephew

(C) Uncle (D) Great grandson

Q 48. In the following question, which group of letters when
sequentially placed at the vacant places will complete the
given letter series? C_e_cd_f d_f

(A) dfcec (B) dfece

(C) cfede (D) cdfed

Q 49. What will be the 7th letter to the left of the 18th letter
from the left in the English alphabet?

(A) K ®Y QL (D)M
Q 50. Category DHL, PTX, BFJ, ? Find the next term in

(A) CGK (B) KOS

(C) NRV (D) RVZ



Q 51. A9 9o & 37T Ug 1 B
BMO, EOQ, HQS5, ..... ?

(A) KSU (B) LMN
(C) SOV (D) SOW

Q 52. Fasiid Ui B 3R T IR HRAT 8. $S g 0 P
¥ §1C, 98 §1¢ g1 8 3R fhR I g1 8. SUHT 4 3
g fean 3t ek 82

(A) Tféror (B) IR

(C) ufEm (D) wd

Q 53. U ASHI U 1 3R A1 ST 6. I &l Sl § 3R
iR & o1 gga1 8. s &l g 3« by fexn &Y 3R §?

(A) &fémor (B) S

O (D) ufd® D

Q 54 Wfdfed 8 ¢ B FHRap Wig 18 il & & fhae
foraar g1 12 fo=f & ot fpamer feramt & fore 3 wfafes fram
He forgn anfeu?
(A) 15 €

(C) 108¢

(B) 12 ©c
(D) 14 e

Q 55. 54 fHi/eer & 3 &) Mey/Adbe H gea IR U gl &
(A) 14 TGS (B) 21 HiAbs
(C) 15 W/AFs (D) 27 Hi/AHs

Q56.(750p164%) +4=7+5
(A) 24 (B) 48
(©) 300 (D) 600

Q 57. % 8000 BT 15% dIfich G T 2 TN 4 HIE T M¥D Y

o T Iehgfa STt fbaT g
(A) ¥ 2980 (B) & 3091
(C) %3109 (D) ¥ 3100

Q 58. fordit o =M IR 8% aTftfer Iopgfs oAl 1 &X I UUH

Y BT S T 48 B. IR TN T SIS T ST
(A) % 48 (B) % 51.84
(C) ¥ 56.48 (D) T 96

Q 59. 3T HIIR . 31TSl J 62 &1 a1e S faq g 2
(A) §YaR (B) HITCTAR
(C) THaR (D) IR

Q 60. el & forg sied-aea J g geiie o g 8t se 2
35+7x5+5-6=24
(A) x 3R -
© + 3R +

(B) + 3R x
(D) - 3R +

Q 51. Find the next term in the following series: BMO, EOQ,
HQS, ....7

(A) KSU (B) LMN

(©) sov (D) SOW

Q 52. Navjot starts walking towards west. After covering
some distance, he turns left and then turns right. In which
direction is he facing now?

(A) South (B) North

(C) West (D) East

Q 53. A boy travels towards the west. He turns right and
again turns left. In which direction is the boy facing now?
(A) South (B) North

(C) East (D) West

Q 54 Working 8 hours a day, Sohan writes a book in 18 days.
How many hours should he write every day to write the
entire book in 12 days?
(A) 15 hours

(C) 10 hours

(B) 12 hours
(D) 14 hours

Q 55. Converting the velocity of 54 km/hr into meters/second
gives:

(A) 14 m/second
(C©) 15 m/second

(B) 21 m/second
(D) 27 m/second

Q56.(64% of 750) + 4 =7 + 5
(A) 24 (B) 48
(C) 300 (D) 600

Q 57. What will be the compound interest on Rs 8000 at 15%
per annum for 2 years and 4 months compounded annually?
(A) Rs 2980 (B) Rs 3091
(C) Rs 3109 (D) Rs 3100

Q 58. The interest on a sum of money at the rate of 8%
compounded annually is Rs 48 for the first year. What will be
the interest for the second year?

(A) Rs 48 (B) Rs 51.84

(C) Rs 56.48 (D) Rs 96

Q 59. Today is Tuesday. Which day after 62 days from today
will be ?

(A) Wednesday
(C) Monday

(B) Tuesday
(D) Sunday

Q 60. Which interchange of signs will make the following
equation correct? ;35+7x5+5-6=24

(A) x and — (B) + and x

(C) + and + (D) —and +



Q61. Fufafd e d A o= o e ?

8*5*27*3*16
(A) X, ==+ (B) - = X+
(C) X, =+, - (D) +, ==X

Q62. AEP=%A=—B=+C=x,D=+ gdl
(100 HT5PB53A4) D9 = ?
(A) 3 (B) 6 € 8 (D)7

Q63. g + BT x, x B3 -, + BT31 + 3R - 131 =
BW175-25+5+20%x3+ 10 =?
(A) 160 (B) 2370
(C) 77 (D) 240

Q 64. YT ABC & HIA = 50° IR HIUIB = 60° 21
AR PIvT T 87
(A) 60 &t
(C) 80 f&ilt

(B) 70 f&oht
(D) 75 A PIS el

Q 65. 3¢ tan A = 6/8 &, A UTT A BT HF J1d HIITI
(A) 3/5 (B) 8/10
(C) 4/10 (D) 1

Q 66. T 180 Hic Telt ¢ U TN BT 9 Vb B UR &Rl 8, al o B
TIf fopen Hiex/ser # 1 HR
(A) 72 fodi/ger
(C) 20 i der

(B) 36 faseil/ger
(D) 90 forei/eier

Q 67. 4Ta H STl e J1d B 9, 18, 36, 72 ?
(A) 112 (B) 128
() 144 (D) 160

Q 68. T BOYS &I DQAU &'s fbar Tar 8, af MATS &1 39 &ifsd
ERISIIG

(A) OCVU (B) ODUU

(C) FBSU (D) OCTU

Q 69. Ife T S Bt BFuT 14 I § 3R 391 FaTs 8 I

8, @S9 a% Y¥IT &k d 1 S|
(A) 704 (B) 1100
(C) 880 (D) 1504

Q 70. 108 fosdi/der o 71 @ =ef darelt b ¢ 32 Adbs o
TP TN B! UR R ¢ 1 o DI AaTs fba-1 87

(A) 960 (B) 1024

(©) 1200 (D) 1240

Q 61. Which of the following options is correct?
8*5*27*3*16

(A) x, = -, (B)—, = %, +
Q> =+,- (D), — = x

Q62.1fP=%A=-B=+,C=x,D ==+ then
(5PB53A4 of 100) D9 = ?
(A) 3 (B) 6 (OX:} (D)7

Q 63. If x means x, x means —, + means and — means
+,then175-25+520x310=7?

(A) 160 (B) 2370

Q77 (D) 240

Q 64. In triangle ABC, angle A = 50° and angle B = 60".
What is the third angle?

(A) 60 degrees
(C) 80 degrees

(B) 70 degrees
(D) None of these

Q 65. If tan A = 6/8, then find the value of sin A.
(A) 3/5 (B) 8/10
(C) 4/10 (D) 1

Q 66. If a 180 meter long train crosses a pole in 9
seconds, find the speed of the train in km/hr.

(A) 72 km/hr
(©) 20 km/hr

(B) 36 km/hr
(D) 90 km/hr

Q 67. Find the next number in the series: 9, 18, 36, 72?
(A) 112 (B) 128
Q) 144 (D) 160

Q 68. If BOYS is coded DQAU, then how will MATS be coded?
(A) OCVU (B) ODUU
(C) FBSU (D) OCTU

Q 69. If the radius of a cylinder is 14 cm and its height
is 8 cm, find its curved surface area.

(A) 704 (B) 1100

(C) 880 (D) 1504

Q 70. A train running at a speed of 108 km/hr crosses a
pole in 32 seconds. What is the length of the train?

(A) 960 (B) 1024

(C) 1200 (D) 1240



Q71. 2+ (2+2)x2 HIHA I DI
A) 4 (B) 1/4
O1 (D)2

Q 72. 200, &1 160 T ufawd & ?
(A) 20% (B) 18%
(C) 80% (D) 40%

Q 73. € TS g o SATeH WRSAT A DI
15, 46, 140, 423, _?

(A) 1275 (B) 1175

(C) 1273 (D) 1073

Q 74. feu T faweut H T faww e &1 Taq B
(A) 51 (B) 66
(© 83 (D) 93

Q 75. I DARK &Y 4-1-19-11 Bifed far mar g, =2
LION &9 pifgd farar smeem?
(A) 12-9-15-14
(C) 12-9-14-13

(B) 12-9-13-12
(D) 11-8-15-14

Q 76. Tf¢ B=4, C=6, E=10, I I1d BIfoT fob ) A foran
SRAT?

(A) 18 (B) 19

(C) 20 (D) 22

Q 77. 94H 30 TPl T3l &1 3iad 1 8?
(A) 20.5 (B) 15.5
() 7.75 (D) 399 ¥ IS Taf

Q 78. feu TU Y3l & S Ty @iof|

Haq: 79 - fovame: 2
(A) ITT™ (B) ™I
Q) PR (D) U

Q 79. & 319d & {3l & dars 26 I §, 3R TH YT 10
it g1 3T BT &THA &

(A) 240V2 (B) 260V2

(C) 652 (D) 1302

Q 80. T BII qui a8 TWATSN 9, 12, 15, 24 Y faursa §
(A) 900 (B) 1600
(C) 3600 (D) 6400

Q 71. Find the value of 2 + (2 2) x 2.
(A) 4 ( B) 1/4
1 (D) 2

Q 72. What percent is 160 of 200 ?
(A) 20% (B) 18%
(C) 80% (D) 40%

Q 73. Find the next number in the given series:
15, 46, 140, 423, _?

(A) 1275 (B) 1175

(C) 1273 (D) 1073

Q 74. Select the odd number from the given options:
(A) 51 (B) 66
(€ 83 (D) 93

Q 75. If DARK is coded 4-1-19-11, how will it be coded
as LION?

(A) 12-9-15-14
(©) 12-9-14-13

(B) 12-9-13-12
(D) 11-8-15-14

Q 76. If B=4, C=6, E=10, then find how J will be
written?

(A) 18 (B) 19

(G 20 (D) 22

Q 77. What is the average of the first 30 natural numbers?
(A) 20.5 (B) 15.5
(©) 7.75 (D) None of these

Q 78. Find the relationship between the given words.
Pen: Nib :: Book: ?

(A) Novel (B) Glass

(C) Cover (D) Page

Q 79. The length of the diagonal of a rectangle is 26 cm, and
that of one side is 10 cm. The area of the rectangle is:

(A) 240V2 (B) 2602

(C) 652 (D) 1302

Q 80. Smallest whole number which is divisible by
9,12,15,249,12,15, 24 is
(A) 900 (B) 1600  (C) 3600 (D) 6400



Q 81. 4Rd P UUH YYFHA B & ?

(A) IToftg Tieh (B) SIATERATd A&
(C) SRy misht (D) FHE Rig
Q 82. T T e & & o T M g ?
(A) S (B) ST

(C) YRd (D) SUM

Q 83. fay yafarur feaw wa F@T ST 3

(A) 15 ST 1 (B) 5 [ Y

(C) 10 3SR &I (D) 8 Al &

Q 84. fay o uyw Ryl P AR

(A) Tear (B) faga=ian

(C) qeffrar (D) gewidt

Q 85. HTHT TRHATY] 3T H% Hel fUd §

(A) S et (B) ATl

(€) =% (D) qrg

Q 86. few Y sefa & Ayl &t we 1 Fifor|
(A) 8

(B) 10

C) 12

(D) 14

Q 87. Fufeiad vy &, 1 T IR Bl Uy 3P H 1 Hi?

+‘l- % |2 Fx
T 3P of + ap
o o *
00 F +* |+ o
£+ S
° 1
+|o
o |*
* ®
Iy o |l &1 el S >
ol + o -+ o [-) x |+
+| ° * ° * | x o o
° * *
% Pl | s |le° s ||+ +

(A) (8) ©) (D)

Q 88. Fufafad vy & T IR NPT Uy SMpf B R Hft?
U‘HWZ 2

I ot
L DA || DA
) ® © ©

Q 89. W W& J1d Biford
(A) 11
AR
© 10

(D) 27 “P

Q90. 1. 3y uew, 2. sianvs, 3. fawufa, 4. fay, 5. URA
(A) 3,1,54,2 (B) 1.53.2,4
@ 21,354 (D) 542,13

Q 81. Who was the first Prime Minister of India ?
(A) Rajiv Gandhi (B) Jawaharlal Nehru
(C) Indira Gandhi (D) Manmohan Singh

Q 82 Which country is at the forefront in the field of education ?
(A) Germany (B) Canada
(Q) India (D) Japan

Q 83. When is World Environment Day celebrated
(A) On 15 June (B) On 5 June
(C) On 10 October (D) On 8 March

Q 84. Which is the first university of the world
(A) Nalanda (B) Vikramshila
(C) Takshashila (D) Vallabhi

Q 85. Where is Bhabha Atomic Research Center located
(A) New Delhi (B) Kolkata
(C) Chennai (D) Mumbai

Q 86. Find the number of triangles in the given figure.
(A) 8

(8) 10
€12
(D) 14

Q 87. In the following question, which answer figure will complete
the question figure?
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Q 88. In the following question, which answer figure will complete
the question figure?

Question shape: )

Answer picture:

L D XD || X

(a) ®) © (D)

Q 89. Find the missing number

(A) 11

AR

(©) 10

(D) 27 qp

Q 90. 1. Andhra Pradesh, 2. Universe, 3. Tirupati, 4. World, 5. India

(A) 3,1,54.2 (B) 153,24
(@ 21354 (D) 54,213



Q 91. T ¥ I 19T Jad A 3R JaQ 797 3R I 3ffdp

TEM Computer 87
(A) Super computer (B) Personal computer
(C) Laptop (D) Notebook

Q 92. AT &1 fpar 872
(A) Riva foa® (B) S5 faa®
@kl (D) IRy it

Q 93. HHR B YN F Tep AIaTEe § fbe e g 82
(A) 10,00,00 (B) 10,00,000
(C) 10,24,000 (D) 10,48,576

Q 94. FEfafEd & 3 €RS &1 9a9 981 gfHe HH - A 5
(A) GB (B) KB
(C) MB (D) TB

Q 95. f3MuRI U&fd (Binary System) &1 WA & ardt
HUER B PEd 8-

(A) TATANT TR (B) f&fea bR
(C) BTRoIS LR (D) T8 A BIS T8
Q 96 THISh & U@ geh §

(A) TH= (B) &g

(C) 304 (D) T

Q 97 91g B He@leR Ty Beerdl &

(A) gaT (B) 9 HdTe

(C) arg 3r=rifa (D) arg TTfcr=ftere
Q 98 JrgHS B! Fed el wRa & & 82

(A) &ysd (B) KRBT

(C) AR IR (D) yAfEpIR

Q 99 Tfth T Y BT IF™P TH R 82

(A) R T8ce (B) TIf$TH PIEHT

(C) P Jethe (D) TSy 3HFZS

Q 100 59 U &1 URGHHU 0T T oel 27
(A) T (B) T
(C) U= (D) Jefd

Q 91. Which of the following is the fastest, largest and
most expensive computer?
(A) Super computer

(C) Laptop

(B) Personal computer
(D) Notebook

Q 92. What is the action of mouse?
(A) Single click (B) Double click
(C) Drag (D) All of the above

Q 93. In computer language, how many bytes are there
in one megabyte?
(A) 10,00,00

(C) 10,24,000

(B) 10,00,000
(D) 10,48,576

Q 94. Which of the following is the largest unit of storage?
(A) GB (B) KB
(C) MB (D) TB

Q 95. A computer that uses the binary system is called
(A) Analog computer (B) Digital computer
(C) Hybrid computer (D) None of these

Q 96 The main component in LPG is
(A) Methane (B) Butane
(C) Ethane (D) Propane.

Q 97 Vertical movement of air is called

(A) Wind (B) Air flow
(©) Air turbulence (D) Air mobility

Q 98 Which is the lowest layer of the atmosphere?
(A) Troposphere (B) Stratosphere
(C) Mesosphere (D) Thermosphere

Q 99 What is the chemical name of laughing gas?
(A) Silver nitrate (B) Sodium carbonate
(C) Calcium sulphate (D) Nitrous oxide

Q 100 Which planet has the fastest rotation time?
(A) Mercury (B) Uranus
(C) Neptune (D) Jupiter






